

AIMS Mathematics, 6(2): 1706–1714. DOI:10.3934/math.2021101 Received: 17 October 2020 Accepted: 20 November 2020 Published: 27 November 2020

http://www.aimspress.com/journal/Math

# Research article

# On the inverse problems associated with subsequence sums of zero-sum free sequences over finite abelian groups II

# **Rui Wang and Jiangtao Peng\***

College of Science, Civil Aviation University of China, Tianjin, P. R. China

\* Correspondence: jtpeng1982@aliyun.com.

**Abstract:** Let *G* be an additive finite abelian group with exponent  $\exp(G)$  and *S* be a sequence with elements of *G*. Let  $\Sigma(S) \subset G$  denote the set of group elements which can be expressed as the sum of a nonempty subsequence of *S*. We say *S* is zero-sum free if  $0 \notin \Sigma(S)$ . In this paper, we determine the structures of the zero-sum free sequences *S* such that  $|S| = \exp(G) + 2$  and  $|\Sigma(S)| = 4 \exp(G) - 1$ , which partly confirms a conjecture of J. Peng et al.

**Keywords:** abelian groups; Davenport constant; inverse problems; subsequence sums; zero-sum free sequences

Mathematics Subject Classification: 11P70, 11B75

# 1. Introduction

Let  $C_n$  denote the cyclic group of *n* elements. Every finite abelian group *G* can be written in the form  $G = C_{n_1} \oplus \ldots \oplus C_{n_r}$  with  $1 < n_1 | \ldots | n_r$ . We call  $\exp(G) = n_r$  the exponent of *G*. Let  $\operatorname{ord}(g)$  denote the order of  $g \in G$ . We consider sequences over *G* as elements in the free abelian monoid with basis *G*. So a sequence *S* over *G* can be written in the form

$$S = g_1 \cdot \ldots \cdot g_\ell = \prod_{g \in G} g^{\mathsf{v}_g(S)},$$

where  $v_g(S) \in \mathbb{N} \cup \{0\}$  denotes the *multiplicity* of g in S. We call  $|S| = \ell = \sum_{g \in G} v_g(S) \in \mathbb{N} \cup \{0\}$  the *length* of S, and  $\sigma(S) = \sum_{i=1}^{\ell} g_i = \sum_{g \in G} v_g(S)g \in G$  the *sum* of S.

A sequence *T* is called a *subsequence* of *S* if  $v_g(T) \le v_g(S)$  for all  $g \in G$ . Whenever *T* is a subsequence of *S*, let  $ST^{-1}$  denote the subsequence with *T* deleted from *S*. If  $S_1$  and  $S_2$  are two sequences over *G*, let  $S_1S_2$  denote the sequence satisfying that  $v_g(S_1S_2) = v_g(S_1) + v_g(S_2)$  for all  $g \in G$ . Let

 $\Sigma(S) = \{\sigma(T) \mid T \text{ is a subsequence of } S \text{ with } 1 \le |T| \le |S|\}.$ 

The sequence S is called

- a set if  $v_g(S) \le 1$  for every  $g \in G$ ,
- *zero-sum* if  $\sigma(S) = 0 \in G$ ,
- *zero-sum free* if  $0 \notin \Sigma(S)$ ,
- *minimal zero-sum* if  $\sigma(S) = 0$  and  $\sigma(T) \neq 0$  for every subsequence T of S with  $1 \le |T| < |S|$ .

For an abelian group G, let D(G) denote the smallest integer  $\ell \in \mathbb{N}$  such that  $0 \in \Sigma(S)$  for every sequence S over G of length  $\ell$ . We call D(G) the *Davenport constant* of G. We remark that the maximal length of zero-sum free sequence over G is D(G) - 1. The Davenport constant of an abelian group G is one of the starting point of Zero-sum Theory. An interesting problem associated with Davenport constant is what can we say about S over an abelian group G if  $0 \notin \Sigma(S)$ .

In 1972, R.B. Eggleton and P. Erdős [2] first studied the problem of determining  $|\Sigma(S)|$  for zero-sum free sequences *S* of a finite abelian group. Since then, this problem attracts many authors including J.E. Olson [10], J.E. Olson and E.T. White [11], W. Gao et al. [6], A. Pixton [18], P. Yuan [23], P. Yuan and X. Zeng [24], Y. Qu et al. [19], J. Peng et al. [14] (see [3] and [15] for some recent progress).

Let *G* be a finite abelian group. For every positive integer  $r \in \mathbb{N}$ , let

 $f_G(r) = \min\{|\Sigma(S)| \mid S \text{ is a zero-sum free sequence over } G \text{ with length } |S| = r\}.$ 

If *G* contains no zero-sum free sequence of length *r*, we set  $f_G(r) = \infty$ .

The invariant  $f_G(r)$  was first introduced by W. Gao and I. Leader [4]. They proved that  $f_G(r) = r$  if  $1 \le r \le \exp(G) - 1$  and  $f_G(\exp(G)) = 2\exp(G) - 1$  provided that  $gcd(\exp(G), 6) = 1$ . The latter result partly confirmed a case of the following conjecture stated by B. Bollobás and I. Leader in 1999 [1].

**Conjecture 1.1.** [1, Conjecture 6] Let  $G = C_n \oplus C_n$  with  $n \ge 2$  and  $0 \le k \le n - 2$  be an integer. Let  $\{e_1, e_2\}$  be a basis of G and  $S = e_1^{n-1}e_2^{k+1}$ . Then  $\mathfrak{f}_G(n+k) = |\Sigma(S)| = (k+2)n - 1$ .

Let  $G = C_{n_1} \oplus \ldots \oplus C_{n_r}$  with  $r \ge 2$  and  $1 < n_1 | \ldots | n_r$ . In 2007, F. Sun [20] proved that  $f_G(n_r) = 2n_r - 1$ , which implies that Conjecture 1.1 holds when k = 0. In 2008, W. Gao et al. [6] proved that Conjecture 1.1 holds when k = 1 by showing that  $f_G(n_r + 1) = 3n_r - 1$  provided that  $n_{r-1} \ge 3$ . They also confirmed Conjecture 1.1 when k = n - 2 and generalized Conjecture 1.1 as follows.

**Conjecture 1.2.** [6, Conjecture 6.2] Let  $G = C_{n_1} \oplus \ldots \oplus C_{n_r}$  with  $r \ge 2$  and  $1 < n_1 | \ldots | n_r$ . Let  $0 \le k \le n_{r-1} - 2$  be an integer. Let  $\{e_1, e_2, \ldots, e_r\}$  be a basis of G with  $\operatorname{ord}(e_i) = n_i$  for all  $i \in [1, r]$  and  $S = e_r^{n_r-1}e_{r-1}^{k+1}$ . Then  $f_G(n_r + k) = |\Sigma(S)| = (k+2)n_r - 1$ .

In 2009, P. Yuan [23] proved that  $f_G(n_r + 2) = 4n_r - 1$  provided that  $n_{r-1} \ge 4$ , which implies that Conjecture 1.2 and also Conjecture 1.1 hold for the case when k = 2. Recently, J. Peng et al. [16] confirmed Conjecture 1.2 and Conjecture 1.1 for the case when k = 3 by showing that  $f_G(n_r+3) = 5n_r-1$  provided that  $n_{r-1} \ge 5$ .

The inverse problem associated with  $|\Sigma(S)|$  is to determine the structure of the sequence *S* over *G* with the given length such that  $\Sigma(S)$  archives the minimal cardinality (see [9, 12, 22] for more known results). Our main motivation is the following conjecture suggested by J. Peng et al. in 2020 [15].

**AIMS Mathematics** 

**Conjecture 1.3.** [15, Conjecture 2.4] Let  $G = C_{n_1} \oplus ... \oplus C_{n_r}$  be a finite abelian group with  $1 < n_1 | ... | n_r$ . Let  $k \in [0, n_{r-1} - 2]$  be an integer and S be a zero-sum free sequence over G of length  $|S| = n_r + k$ . Then  $|\Sigma(S)| \ge (k + 2)n_r - 1$ , and the equality holds if and only if S has one of the following forms.

- (1)  $\langle S \rangle \cong C_{k+2} \oplus C_{n_r}$ , where  $k + 2 \mid n_r$ ;
- (2)  $S = g^{n_r-1} \cdot (h+t_1g) \cdot \ldots \cdot (h+t_{k+1}g)$ , where  $g, h \in G$  with  $\operatorname{ord}(g) = n_r$ ,  $ih \notin \langle g \rangle$  for every  $i \in [1, k+1]$ , and  $t_1, \ldots, t_{k+1} \in [0, n_r 1]$  are integers.

Conjecture 1.3 has been verified for the following cases

- 1. k = 0, 1; [15, Theorem 2.3]
- 2.  $G = C_n \oplus C_n$  and k = n 3; [21, Theorem 1.3]
- 3.  $G = C_n \oplus C_{nm}$  and k = n 3; [13, Theorem 1.5]
- 4.  $v_g(S) \ge n_r 1$  for some elements  $g \in G$ ; [13, Theorem 1.4]
- 5.  $G = C_p \oplus C_p$ . [17, Theorem 1.5]

In this paper we prove the following results.

**Theorem 1.4.** Let  $G = C_{n_1} \oplus C_{n_2}$  be a finite abelian group with  $1 < n_1 | n_2$ . Let  $k \in [0, n_1 - 2]$  be a positive integer and  $S = S_1S_2$  be a zero-sum free sequence over G of length  $|S| = n_2 + k$ , where  $N = \langle S_1 \rangle$  is a cyclic subgroup of G. Let  $\varphi : G \to G/N$  denote the canonical epimorphism. Suppose

$$|S_1| \ge k + 1$$
, and  $q = |\{0\} \cup \Sigma(\varphi(S_2))| > |S_2|$ .

Then  $|\Sigma(S)| \ge (k+2)n_2 - 1$ . Moreover, the equality holds if and only if S has one of the following forms:

- (1)  $\langle S \rangle \cong C_{k+2} \oplus C_{n_2}$ , where  $k + 2 \mid n_2$ ;
- (2) There exist  $g, h \in G$  such that  $S = g^{n_2-1} \cdot (h+t_1g) \cdot \ldots \cdot (h+t_{k+1}g)$ , where  $\operatorname{ord}(g) = n_2$ ,  $ih \notin \langle g \rangle$  for  $i \in [1, k+1]$ , and  $t_1, t_2, \ldots, t_{k+1} \in [0, n_2 1]$  are integers.

**Theorem 1.5.** Conjecture 1.3 is true when k = 2.

The paper is organized as follows. Section 2 provides some preliminary results. In Section 3 we prove our main results. In the last section, we give some further results.

#### 2. Preliminary results

We provide some preliminary results in this section, beginning with the famous Davenport constant.

**Lemma 2.1.** [8, Theorem 5.8.3] Let  $G = C_{n_1} \oplus C_{n_2}$  with  $1 \le n_1 \mid n_2$ . Then  $D(G) = n_1 + n_2 - 1$ .

Next five lemmas provide a few results on  $|\Sigma(S)|$  for zero-sum free sequence *S*.

**Lemma 2.2.** [15, Lemma 3.7] Let G be a finite abelian group and let S be a zero-sum free sequence over G. Then  $|\Sigma(S)| \ge |S|$  and the equality holds if and only if  $S = g^{|S|}$  for some  $g \in G$  with  $\operatorname{ord}(g) \ge |S| + 1$ .

**Lemma 2.3.** [18, Theorem 1.7] Let G be a finite abelian group and S be a zero-sum free sequence of G. Suppose the subgroup generated by S is of rank greater than 2. Then  $|\Sigma(S)| \ge 4|S| - 5$ .

**AIMS Mathematics** 

Volume 6, Issue 2, 1706–1714.

**Lemma 2.4.** [16, Theorem 1.1] Let G be a finite abelian group and S be a zero-sum free sequence over G of length  $|S| \ge 5$ . Suppose

- (i)  $\langle S \rangle \cong C_{n_1} \oplus \ldots \oplus C_{n_r}$  with  $r \ge 2$ ,  $1 < n_1 \mid n_2 \mid \ldots \mid n_r$ , and  $n_1 \cdot \ldots \cdot n_{r-1} \ge 6$ .
- (*ii*)  $|\Sigma(\varphi_H(S)) \cup \{0\}| \ge 5$  for every cyclic subgroup H of G, where  $\varphi_H : G \to G/H$  denotes the canonical epimorphism.

*Then*  $|\Sigma(S)| \ge 5|S| - 16$ .

**Lemma 2.5.** [13, Theorem 1.4] Conjecture 1.3 is true when  $v_g(S) \ge n_r - 1$  for some  $g \in G$ .

**Lemma 2.6.** [13, Theorem 1.5] Conjecture 1.3 is true when  $G = C_n \oplus C_{nm}$  with k = n - 3.

We also need the following technical results.

**Lemma 2.7.** [6, Lemma 3.1] Let G be a finite abelian group and A be a finite nonempty subset of G. Let  $r \in \mathbb{N}$ ,  $y_1, \ldots, y_r \in G$  and  $k = \min\{\operatorname{ord}(y_i) \mid i \in [1, r]\}$ . Then  $|\Sigma(0y_1 \cdot \ldots \cdot y_r) + A| \ge \min\{k, r + |A|\}$ .

**Lemma 2.8.** [15, Lemma 3.14] Let G be a finite abelian group and  $S = S_1S_2$  be a zero-sum free sequence over G. Let  $H = \langle S_1 \rangle$  and  $\varphi : G \to G/H$  denote the canonical epimorphism. Suppose  $q = |\{\overline{0}\} \cup \Sigma(\varphi(S_2))|$ . Then

(1)  $|\Sigma(S_1S_2)| \ge q|\Sigma(S_1)| + q - 1;$ 

(2) If  $\varphi(S_2)$  is not zero-sum free, then  $|\Sigma(S_1S_2)| \ge q(|\Sigma(S_1)| + 1)$ .

**Lemma 2.9.** [15, Lemma 4.2] Let  $G = C_{n_1} \oplus \ldots \oplus C_{n_r}$  be a finite abelian group with  $1 < n_1 | \ldots | n_r$ and S be a zero-sum free sequence over G with  $|S| \ge n_r$ . Then

(1)  $\langle S \rangle$  is not cyclic; (2) If  $|S| = n_r + k$  and  $\langle S \rangle \cong C_{m_1} \oplus C_{m_2}$  where  $1 < m_1 \mid m_2$ , then  $m_2 = n_r$  and  $m_1 \ge k + 2$ .

The following lemma states a result on the inverse problems of  $|\Sigma(S)|$  when S is not zero-sum free.

**Lemma 2.10.** [16, Lemma 3.1] Let G be a finite abelian group and  $S = b_1 \cdot \ldots \cdot b_w$  be a sequence over G. Suppose  $b_i \neq 0$  for every  $i \in [1, w]$  and  $|S| = w \ge 4 = |\{0\} \cup \Sigma(S)|$ . Then either  $\langle S \rangle \cong C_4$  or  $\langle S \rangle \cong C_2 \oplus C_2$  or  $S = g_1^{w-1}g_2$ , where  $\operatorname{ord}(g_1) = 2$  and  $g_1 \neq g_2$ .

#### 3. Proof of the main results

We prove our main results in this section.

#### 3.1. Proof of Theorem 1.4

*Proof.* If S is of form (1) or of form (2), it is easy to verify that  $|\Sigma(S)| = (k+2)n_2 - 1$ .

Next we assume that *S* is a zero-sum free sequence over *G* such that  $|S| = n_2 + k$ . Since *N* is a cyclic subgroup of *G* and *S*<sub>1</sub> is zero-sum free, we infer that  $k + 1 \le |S_1| \le |N| - 1 \le n_2 - 1$ . It follows from Lemma 2.8 (1) and Lemma 2.2 that

$$|\Sigma(S)| \ge q|\Sigma(S_1)| + q - 1$$

**AIMS Mathematics** 

Volume 6, Issue 2, 1706–1714.

 $\geq (|S_2| + 1)|S_1| + |S_2|$ =  $(|S_2| + 1)(|S_1| + 1) - 1$ =  $(n_2 + k - |S_1| + 1)(|S_1| + 1) - 1$  $\geq (k + 2)n_2 - 1.$ 

This proves the inequality.

If  $|\Sigma(S)| = (k+2)n_2 - 1$ , the above inequality forces that

(a1)  $|\Sigma(S_1)| = |S_1|$  and  $|S_2| = q - 1$ . (a2)  $|S_1| = k + 1$  or  $|S_1| = n_2 - 1$ .

Since  $S_1$  is a zero-sum free sequence over G, it follows from (a1) and Lemma 2.2 that  $S_1 = g^{|S_1|}$  for some  $g \in G$  with  $\operatorname{ord}(g) \ge |S_1| + 1$ . If  $|S_1| = n_2 - 1$ , then  $v_g(S) = n_2 - 1$ , the result follows from Lemma 2.5. So we may assume that

$$|S_1| = k + 1 < n_2 - 1.$$

So  $|S_2| = |S| - |S_1| = n_2 + k - (k + 1) = n_2 - 1$  and thus  $q = n_2$ .

If  $\varphi(S_2)$  is not a zero-sum free sequence over G/N, then it follows from Lemma 2.8 (2) and Lemma 2.2 that

$$|\Sigma(S)| \ge q(|\Sigma(S_1) + 1) \ge (|S_2| + 1)(|S_1| + 1) = (k+2)n_2,$$

yielding a contradiction. Therefore,

 $\varphi(S_2)$  is a zero-sum free sequence over G/N.

Since  $|\{\overline{0}\} \cup \Sigma(\varphi(S_2))| = q = |S_2| + 1$ . Then  $|\Sigma(\varphi(S_2))| = q - 1 = |S_2|$ . It follows from Lemma 2.2 that  $\varphi(S_2) = \overline{h}^{|S_2|}$ , where  $h \in G \setminus N$  and  $\operatorname{ord}(\overline{h}) \ge |S_2| + 1 = n_2$ . Since  $\operatorname{ord}(\overline{h}) \mid n_2 = \exp(G)$ , we have that  $\operatorname{ord}(\overline{h}) = n_2$ . Therefore,  $S_2$  is of the following form

$$S_2 = (h + t_1g) \cdot (h + t_2g) \cdot \ldots \cdot (h + t_{|S_2|}g),$$

where  $t_i \in [0, \operatorname{ord}(g) - 1]$  for  $i = 1, 2, ..., |S_2|$  and  $\operatorname{ord}(\overline{h}) = n_2$ . Moreover, we have that  $ih \notin \langle g \rangle$  for every  $i \in [1, n_2 - 1]$ .

If  $\operatorname{ord}(g) = k + 2$ , then  $k + 2 \mid n_2$  and  $\langle S \rangle \cong \langle g, h \rangle \cong C_{k+2} \oplus C_{n_2}$ . So *S* is of form (1), and we are done. Next we assume that  $\operatorname{ord}(g) > k + 2$ . Then  $n_2 \ge \operatorname{ord}(g) > k + 2$  and  $|S_2| = n_2 - 1 \ge k + 2$ . We will show that  $t_1 = t_2 = \ldots = t_{n_2-1}$ . Suppose  $t_1 \ne t_2$ . Then

$$ih + (\sum_{j=3}^{i+1} t_j)g + \{t_1g, t_2g\} \subset \Sigma(S_2) \cap (ih + \langle g \rangle),$$

for every  $i \in [1, n_2 - 2]$ . It follows from Lemma 2.7 that

$$\begin{aligned} |\Sigma(S) \cap (ih+N)| &\ge |(\Sigma(S_2) \cap (ih+N)) + \Sigma(0S_1)| \\ &\ge |ih+(\sum_{j=3}^{i+1} t_j)g + \{t_1g, t_2g\} + \{0, g, 2g, \dots, (k+1)g\}| \end{aligned}$$

**AIMS Mathematics** 

Volume 6, Issue 2, 1706–1714.

 $\geq k + 3$ ,

for every  $1 \le i \le n_2 - 2$ . Similarly,

$$\begin{aligned} |\Sigma(S) \cap ((n_2 - 1)h + N)| \\ \ge |(\Sigma(S_2) \cap ((n_2 - 1)h + N)) + \Sigma(0S_1)| \\ \ge |(n_2 - 1)h + (\sum_{j=1}^{n_2 - 1} t_j)g + \{0, g, 2g, \dots, (k+1)g\}| \ge k + 2. \end{aligned}$$

Note that  $|\Sigma(S) \cap N| \ge |\{g, 2g, \dots, (k+1)g\}| = k+1$  and

$$\Sigma(S) = \bigcup_{i=0}^{n_2-1} \Sigma(S) \cap (ih+N).$$

Therefore,

$$\begin{split} |\Sigma(S)| &\geq \sum_{i=0}^{n_2-1} |\Sigma(S) \cap (ih+N)| \\ &\geq (k+1) + (k+3)(n_2-2) + (k+2) \\ &= (k+3)n_2 - 3 > (k+2)n_2 - 1, \end{split}$$

yielding a contradiction. So  $t_1 = t_2$ . Moreover we obtain that  $t_1 = t_2 = \ldots = t_{n_2-1}$  and thus  $S_2 = (h + t_1g)^{n_2-1}$ .

Let  $g_1 = h + t_1 g$  and  $h_1 = g$ . Then  $S = g_1^{n_2-1} h_1^{k+1}$  is of form (2), and we are done.

## 3.2. Proof of Theorem 1.5

*Proof.* Let  $G = C_{n_1} \oplus \ldots \oplus C_{n_r}$  be a finite abelian group with  $1 < n_1 | \ldots | n_r$ . Let *S* be a zero-sum free sequence over *G* of length  $|S| = n_r + 2$ . By Lemma 2.9 (1) we obtain that  $\langle S \rangle$  is not cyclic and thus  $r \ge 2$ .

If S is of form (1) or of form (2) in Conjecture 1.3, it is easy to check that  $|\Sigma(S)| = 4n_r - 1$ .

Next we assume that  $|\Sigma(S)| = 4n_r - 1$ , we will show that S is of form (1) or (2).

We first show that r = 2. If  $r \ge 3$ , by Lemma 2.3, we infer that  $|\Sigma(S)| \ge 4|S| - 5 = 4(n_r + 2) - 5 = 4n_r + 3 > 4n_r - 1$ , yielding a contradiction. Hence r = 2.

Suppose  $\langle S \rangle \cong C_{m_1} \oplus C_{m_2}$  with  $1 < m_1 \mid m_2$ . Since  $|S| = n_r + 2$ , by Lemma 2.9 (3) we infer that  $m_2 = n_r$  and  $m_1 \ge 4$ . Therefore,  $|S| = n_r + 2 = m_2 + 2 \ge m_1 + 2 \ge 6$ .

If  $m_1 = 4$ , we obtain that S is of form (1), and we are done.

If  $m_1 = 5$ , by Lemma 2.1 we infer that  $|S| = n_r + 2 = m_1 + m_2 - 3 = D(C_{m_1} \oplus C_{m_2}) - 2$ . It follows from Lemma 2.6 that S is of form (2), and we are done.

Next we assume that  $m_1 \ge 6$ . Then  $n_r = m_2 \ge m_1 \ge 6$ . We will show that

$$|\Sigma(\varphi_H(S)) \cup \{0\}| \le 4$$

for some cyclic subgroup *H* of *G*, where  $\varphi_H : G \to G/H$  denotes the canonical epimorphism. Assume to the contrary that  $|\Sigma(\varphi_H(S)) \cup \{\overline{0}\}| \ge 5$  for every cyclic subgroup *H* of *G*. By Lemma 2.4, we infer that

 $4n_r - 1 = |\Sigma(S)| \ge 5|S| - 16 = 5(n_r + 2) - 16 = 5n_r - 6$ . It follows that  $n_r \le 5$ , yielding a contradiction. Hence  $|\Sigma(\varphi_H(S)) \cup \{\overline{0}\}| \le 4$  for some cyclic subgroup *H* of *G*.

Suppose  $q = |\Sigma(\varphi_H(S)) \cup \{\overline{0}\}|$  and  $\Sigma(\varphi_H(S)) \cup \{\overline{0}\} = \{\overline{0}, \overline{a_1}, \dots, \overline{a_{q-1}}\}$  for some  $a_1, a_2, \dots, a_{q-1} \in G$ . It is clear that

$$\Sigma(S) \subset H \cup (a_1 + H) \cup \ldots \cup (a_{q-1} + H).$$

Since *H* is a cyclic subgroup of *G*, we infer that  $|H| \le n_r$ . It follows from  $|\Sigma(S)| = 4n_r - 1$  and  $q \le 4$  that q = 4 and  $|H| = n_r$ . Moreover, since *S* is zero-sum free, we infer that

$$\Sigma(S) = (H \setminus \{0\}) \cup (a_1 + H) \cup (a_2 + H) \cup (a_3 + H).$$

Now we can write  $S = S_1S_2$ , where  $S_1$  is the subsequence of S that consisting all elements of H, and none elements of  $S_2$  is in H. If

$$|S_1| \ge 3$$
, and  $4 = |\{0\} \cup \Sigma(\varphi(S_2))| > |S_2|$ ,

applying Theorem 1.4 with k = 2, we infer that S is of form (1) or (2), and we are done. So we may assume that

either 
$$|S_1| \le 2$$
, or  $4 = |\{0\} \cup \Sigma(\varphi(S_2))| \le |S_2|$ .

Noting that  $|S| = n_r + 2 \ge 6 + 2 = 8$ . If  $|S_1| \le 2$ , then  $|S_2| \ge 6 > 4 = |\{\overline{0}\} \cup \Sigma(\varphi(S_2))|$ . Hence, it remains to consider the case

$$4 = |\{0\} \cup \Sigma(\varphi(S_2))| \le |S_2|.$$

By Lemma 2.10, we infer that  $\langle \varphi(S_2) \rangle \cong C_4$ , or  $\langle \varphi(S_2) \rangle \cong C_2 \oplus C_2$ , or  $\varphi(S_2) = \overline{b_1}^{|S_2|-1}\overline{b_2}$ , for some terms  $b_1, b_2$  from S with  $\operatorname{ord}(\overline{b_1}) = 2$  and  $\overline{b_1} \neq \overline{b_2}$ .

If  $\langle \varphi(S_2) \rangle \cong C_4$ , we obtain that  $\langle S \rangle \cong C_4 \oplus C_{n_r}$ , yielding a contradiction to that  $\langle S \rangle \cong C_{m_1} \oplus C_{m_2}$ with  $m_1 \ge 6$ . If  $\langle \varphi(S_2) \rangle \cong C_2 \oplus C_2$ , we obtain that  $\langle S \rangle \cong C_2 \oplus C_2 \oplus C_{n_r}$ , yielding a contradiction to that  $\langle S \rangle$  is of rank 2. If  $\varphi(S_2) = \overline{b_1}^{|S_2|-1} \overline{b_2}$ , for some terms  $b_1, b_2$  from S with  $\operatorname{ord}(\overline{b_1}) = 2$  and  $\overline{b_1} \neq \overline{b_2}$ , then  $\langle S b_2^{-1} \rangle \cong C_2 \oplus C_{n_r}$ . So  $S b_2^{-1}$  is a zero-sum free sequence of length  $|S b_2^{-1}| = n_r + 1$  over  $C_2 \oplus C_{n_r}$ . By Lemma 2.1, we infer that  $D(C_2 \oplus C_{n_r}) = 2 + n_r - 1 = n_r + 1 = |S b_2^{-1}|$ , yielding a contradiction to that  $S b_2^{-1}$  is zero-sum free.

This completes the proof.

#### 4. Concluding remarks

In 2008, W. Gao et al. [6] confirmed Conjecture 1.1 when k = n - 2 by using the following result.

**Lemma 4.1.** [8, Proposition 5.1.4] Let G be a finite abelian group and S be a zero-sum free sequence over G with |S| = D(G) - 1. Then  $|\Sigma(S)| = |G| - 1$ .

Moreover, we have the following results.

**Theorem 4.2.** Both Conjecture 1.2 and Conjecture 1.3 are true when  $G = C_n \oplus C_{nm}$  with k = n - 2.

*Proof.* It follows from Lemma 2.1 and Lemma 4.1 immediately.

AIMS Mathematics

Volume 6, Issue 2, 1706–1714.

#### Acknowledgments

We would like to thank the referees for their very carefully reading and very useful suggestions. This research was supported in part by the Fundamental Research Funds for the Central Universities (No. 3122019152).

## **Conflict of interest**

The authors declare no conflict of interest in this paper.

## References

- 1. B. Bollobás, I. Leader, The number of k-sums modulo k, J. Number Theory, 78 (1999), 27–35.
- 2. R. B. Eggleton, P. Erdős, Two combinatorial problems in group theory, *Acta Arith.*, **21** (1972), 111–116.
- 3. W. Gao, M. Huang, W. Hui, Y. Li, C. Liu, J. Peng, Sums of sets of abelian group elements, *J. Number Theory*, **208** (2020), 208–229.
- 4. W. Gao, I. Leader, Sums and *k*-sums in an abelian groups of order *k*, *J. Number Theory*, **120** (2006), 26–32.
- 5. W. Gao, Y. Li, J. Peng, F. Sun, Subsums of a Zero-sum Free Subset of an Abelian Group, *Electron*. *J. Combin.*, **15** (2008), R116.
- W. Gao, Y. Li, J. Peng, F. Sun, On subsequence sums of a zero-sum free sequence II, *Electron. J. Combin.*, 15 (2008), R117.
- 7. A. Geroldinger, D. J. Grynkiewicz, The large Davenport constant I: Groups with a cyclic, index 2 subgroup, *J. Pure Appl. Algebra*, **217** (2013), 863–885.
- 8. A. Geroldinger, F. Halter-Koch, *Non-Unique Factorizations. Algebraic, Combinatorial and Analytic Theory*, Pure and Applied Mathematics, Chapman & Hall/CRC, 2006, vol. 278, p700.
- 9. H. Guan, X. Zeng, P. Yuan, Description of invariant *F*(5) of a zero-sum free sequence, *Acta Sci. Natur. Univ. Sunyatseni*, **49** (2010), 1–4 (In Chinese).
- 10. J. E. Olson, Sums of sets of group elements, Acta Arith., 28 (1975), 147-156.
- 11. J. E. Olson, E. T. White, Sums from a sequence of group elements, *Number Theory and Algebra (H. Zassenhaus, ed.),* Academic Press, 1977, 215–222.
- 12. J. Peng, W. Hui, On the structure of zero-sum free set with minimum subset sums in abelian groups, *Ars Combin.*, **146** (2019), 63–74.
- 13. J. Peng, W. Hui, on subsequence sums of zero-sum free sequences in abelian groups of rank two. *JP J. Algebra, Number Theory Appl.*, **48** (2020), 133–153.
- 14. J. Peng, W. Hui, Y. Li, F. Sun, On subset sums of zero-sum free sets of abelian groups. *Int. J. Number Theory*, **15** (2019), 645–654.
- 15. J. Peng, Y. Li, C. Liu, M. Huang, On the inverse problems associated with subsequence sums of zero-sum free sequences over finite abelian groups, *Colloq. Math.*, **163** (2021), 317–332.

- 16. J. Peng, Y. Li, C. Liu, M. Huang, On subsequence sums of a zero-sum free sequence over finite abelian groups, *J. Number Theory*, **217** (2020), 193–217.
- 17. J. Peng, Y. Qu, Y. Li, On the inverse problems associated with subsequence sums in  $C_p \oplus C_p$ , Front. *Math. China*, **15** (2020), 985–1000.
- 18. A. Pixton, Sequences with small subsums sets, J. Number Theory, 129 (2009), 806–817.
- 19. Y. Qu, X. Xia, L. Xue, Q. Zhong, Subsequence sums of zero-sum free sequences over finite abelian groups, *Colloq. Math.*, **140** (2015), 119–127.
- 20. F. Sun, On subsequence sums of a zero-sum free sequence, *Electron. J. Combin.*, 14 (2007), R52.
- 21. F. Sun, Y. Li, J. Peng, A note on the inverse problems associated with subsequence sums, *J. Combin. Math. Combin. Comput.* (in press).
- 22. P. Yuan, Subsequence sums of a zero-sumfree sequence, *European J. Combin.*, **30** (2009), 439–446.
- 23. P. Yuan, Subsequence Sums of Zero-sum-free Sequences, Electron. J. Combin., 16 (2009), R97.
- 24. P. Yuan, X. Zeng, On zero-sum free subsets of length 7, Electron. J. Combin., 17 (2010), R104.



© 2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)